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Heights to descend from Everest summit to base camp
Sheet 2

Work out the height above sea level of each base camp.
5380m should be the answer to your last subtraction. If not, work out where your mistake is!

The summit 8848m

'The balcony' Descend 453m

Camp 4 Descend 460m
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Camp 3 Descend 467m

Camp 2 Descend 890m

Camp 1 Descend 495m
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Base camp Descend 703m

® VvV 1 o
® VvV H o

Hamilton Trust practice_add-sub_5179_day2

vV @€ ¥ &8 6 B V @& ¥ & o H VvV & ¥ &8 o =R VvV & ¥ &8 o6 EHE V & ¥ & 0o EH V o +»



